L

| 6 | 7 | 8
1 | McMaster | 90925A110 | Torx Rounded Head Screw No. 4, 3" Long | 60
2 | McMaster | 94323A319 |  Nylon Thumb Screws, "-20,%"Long | 6 |”
3 | McMaster | 94900A029 Nylon Hex Nut 3" - 20 6
4 | McMaster | 90925A151 Torx Rounded Head Screws No. 6, 3" 4
5 | McMaster 8478A500 Plate-Mount Retractable Spring Plunger 3
6 | McMaster | 91802A194 | Phillips Oval Head Screws 8-32, " Long | ©
7 | McMaster | 90480A009 Steel Hex Nut 8-32 6 |[B
8 | McMaster | 99022A101 Stainless Steel Cap Nuts 4-40 4
9 | McMaster | 92373A126 Stainless Steel Slotted Spring Pin 4
10 | McMaster | 96452A110 | Button Head Torx Screws 4-40,3"Long | 4 —
11| uscutter | ORS6312410 Grey: Oracal - 631 Color #074 Matte 4
12 | uscutter | ORS6312410 Black: Oracal - 631 Color #070 Matte 1
13 | uscutter | ORS6312410 White: Oracal - 631 Color #010 Matte 1 |C
14 Albrillo BO1ARQY31S LED Light 12W 900 Lumens, 3000K 2
D
E
Dept. Technical reference Created by Approved by |
Leslie Shaw 5/23/19
Document type Document status
Title DWG No.
Rev. 1a F
Rev. Date of issue Sheet
6 7 8

1/4


Leslie Shaw


Leslie Shaw


Leslie Shaw



FRONT ) BOTTOM .
. 5| H .
m— — N v —— LID] ?" v —= — — "CF ) 1
@ | .
- 225 _
| ]| Th
B
¢ o | !
() o
- £ i - - ‘[I’ '[I' ] 3
® 8] P q 9 B
Y
J . (L' -—P
( _ A c
[ L 9 J '-:J ]- 'd
I e I e | l_e 1
Co=cr = = = =
=] -
Feet glued on
RIGHT . o
Py Py ITI i D
ﬁ C o) r—. . 400 _
— Tl
(] q
E
Ij %' 1]
Dept. Technical reference Created by Approved by |
Leslie Shaw 5/23/19
g:l Document type Document status
‘
Title DWG No.
) Rev. 1a F
L —— =
Rev. Date of issue Sheet

| 2/4
2 | 3 4 | 5 6 7 8



| 6 7
25.5
., | 65
' \' _‘
o™ ()
& Y 3
\/
1
A ]
Tp)
~— o
Y |1 93.5 ~ X |
~ | @10 _
N\ |
Lo (o] 1
AN
(e 0]
. 1
| )
________________________________ (—l
U I
Y
— Wy
]
™
™
(Q\
230 23
Dept. Technical reference Created by Approved by
Leslie Shaw 5/23/19
Document type Document status
Title DWG No.
Rev. 1a
Rev. Date of issue Sheet
3/4
6 7




2 6 7
A
254
23
/\ I B
o
(p]
Y
1 —
o
(e}
3.
3 o= R C
— 1 N
"o x
o (o0
—— = — ' —
|
A
™
o Tp]
Tp)
D
A 1 |
127 5
E
Dept. Technical reference Created by Approved by |
Leslie Shaw 5/23/19
Document type Document status
Title DWG No.
Rev. 1a F
Rev. Date of issue Sheet
4/4
2 6 7 8



